























Math 3298 Exam III
NAME: SCORE:

1. Given F = (zy?, 2%y), and curve C : parabola y = 2, ( z < 1. Compute the line integral

/F~dr
c

by parameterizing the curve.
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2. Check that the vector field in problem 1 is conservative. =n compute it by the Fundamental
Theorem of Line Integral.
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3. Use Green’s Theorem to evaluate
/ derz/ V1 + zidz 2zydy
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Véf where C' is the triangle with vertices (0,0), (1,0), and 3} with positive orientation.
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4. Given F = (e® + 2zy?%,22%y). First, check that F is ¢ servative. Then, evaluate the line
integral / F.dr where C :isr(t) = {t + sinnt,2t + co:  ),0 <t <1
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5. Find a parametric equation for the curve y = sinz sta g from (0,0) and ending at (7, 0).
Specify the parameter region.

X=t
C. ‘a=§\‘A’C‘

6. Find a parametric equation for the surface which is the linder 22 + 3> =1,0 < z < 2.
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7. Given a parametric surface
r(u,v) = {(ucosv,usinv,sinu), we 7, wvée|lo,2n]

Find its Cartesian equation.
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8. Given a vector field F = (e* y e¥2?, e*z%). Find curlF
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is conservative. If so, find the potential function f{z,y
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10. Find the surface area of the upper half sphere z2 + 3% +
You need to parameterize the surface first. (hint: using
is easier)
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=4 and z > 0 by surface integral.
herical coordinates as parameters

2 Cc’\aii/\

: I) ) u, g\'nq/‘ def Qk@

o VR

::\/—(‘(—"k{/./-*LLSC{



